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Function0l Answers for No.9589
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

p 2_[.1:{(-4, 2%01/2) ) (-1, TIN1/2) ), (0, 2%351/2) ), (1, 1371/2)), (3, 1571/2) ), (4, 4)}}
8= 2={(-4,37),(-1,7),(0,5),(1,7),(3,23),(4,37)}

[sz {x|x=/= 2}}

g "lR=ty1y=-0;
2= B {Df: Set of all Real number}

3=1 .1 ="a Function" R={yly>=1}

Ans3 = 4 =undefined [’ Ansd = [2 ="NOT a Function"}’ , Ans3 = {Dj{— {x|x>=-1 }}
=3 LR={yly<=0]
L.6 = undefined | D,={x|x<=0}

I {sz{x|x>=0}}

Ans6 =(R,={y|-74<y<=7})
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.9707

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[ d={(-5,95),(-3,31),(0,-5),(2,11),(3,31),(5,95)} }
M 2=y (-5,3), (-3, 1IN1/2) ), (0, 14~1/2) ), (2,4), (3, 1751/2) ), (5, 19%1/2) ) }

Ansl =

; {Df:{x|x>=3}}
_ - R.= <=
.2 = undefined :{Df: {x[x<=07
3=5 .1 ="a Function" ' R={x[x>=0}
Ans3 = 4=2 D P Ans4 = |:2 —"a Functionn:|9 5 Ans5 = |:Df: Set Ofa” Real number}

.éiig B 59::{y|}7<=:]}

- 07 - ) [Df:{x|x=/=—3}}
O LR={yy=200

Ans6 =(R,={y|-4<y<=12})

X [Page = 0002] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXKKKKXXXKXKXKXXXKKKXKKXXKKKKKXKKKKX KX KKKXK KK KKK KKK KKKK KX KKK KKK KKK KK KKKK KX KKKKKX
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Function0l Answers for No.9821

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

) 2_[.1 ={(-5,6°1/2)),(-2,3),(-1,10%1/2)),(0,11~1/2)), (1,2%3~1/2)), (2, 13A(1/2))}}
8e= 2={(-5,80),(-2,17),(-1,8),(0,5),(1,8),(2,17)]
i [Df: Set of all Real number}_
- 13] R={yly<=2}
2=2 2:{Df={XIx=/=2}
3=2 .1 ="a Function" R={yly=/=0}

Ans3 = 4=2 AnM_[Zz"aFunction"}’ , Ans3 = D;={x|x>=0}
S5=- T R =fxlx>=0)
6=—h

L. J |:Df={x|x>=—2}}
L L R={yly<=0}

Ans6:(Rf:{y|—]6<y<:9})
DA -ET TR NI IID 0:01010.6.6:0:0:0:0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXX XKL XKL KKK K KKXL XKL LKL KKK LKL LXK LXK KKK KKK K KKKKKKKKKMS /2-6600401-00004XX

Function0l Answers for No.10352
.1 ="NOT a Function"

Ans] — .2 ="a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"
) 2_[.1:{(-5,7A(1/2)),(-3,3),(0,2>'<3'A(1/2)),(3,15A(1/2)),(4,4),(5,17A(1/2))}}
8= 2={(-5,127),(-3,47),(0,2),(3,47),(4,82),(5,127))

‘]:{Df:{x|x>=0}}

S Rf:{x|xi=_0}

.2 = undefined _ [Df: {x|x=/=2}
3=0 .1 ="a Function" R={yly=/=0}

Ans3 = 4 _ 10 I 5 AnS4 - |:2 _ "a Functionn:|9 5 AnS5 = |:Df: Set Ofa” Real number}

5=-10 L R={yly>=2}
L .6=—-19—-1 | , [sz{x|x>=—2}}
O LR={yly<=0}

Ans6:(Rf:{y|-]2 <=y<52)})
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXKXXKXXXKXKX KX KX KX KX KXXXKX KX KX KX KX KX KKK KX KX KX KX KX KK KKK KK KKK
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Function0l Answers for No.10380

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

) 2_[.1 ={(-3,3),(-2,101/2)), (-1, 11(1/2) ), (0, 2*3~1/2) ), (1, 131/2) ), (2, 14A(1/2))}}
e = 2={(-3,13),(-2,3),(-1,-3),(0,-5),(1,-3),(2,3))
]{sz{x|x>=0}}
S R={x|x>=0}
2=0 22[D,-={x|x=/=—3}
3=0 .1 ="a Function" . R={yly=/=0}
Ans3 = 4=0 N 5 Ans4 = |:2 — "y Ful’lCtiOl’l"l , Ans) = ; Df: Set Ofal] Real number:|
S5=2 L R={yly>=1}
6=—h

- - 4_{Df:{x|x>=1}}
R={yly<=0}

Ans6:(Rf:{y|-]3 <=y<68})
DG REETe (SHE NS IND 9.9:0.0.9.9:0.:0.0.0.0.9:0.9.0.0.0.0:0:0.0.0.0.0:0:0.0.0.0.0.9.0:0.0.0.0.0.9:0.0.0.0.9.0:0.0.0.0.0.0.0.0.0.:0.:0.0.9:0.9.0.0.0.0:0.0.0.0.0.9.0.0.0.0.:0.0.0:0.0.0.:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.9:0.0.0.4
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Function0l Answers for No.10412

.1 ="a Function"
Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-5,119),(-4,74),(-1,-1),(0,-6),(1,-1),(5,119)} }
2={(-5,10N172)),(-4,111/2)), (-1, 14~(1/2)), (0, 151/2)),(1,4),(5,2*57(1/2))}

]{Df:{x|x>=2}}
R={yly<=0/}

1=19
2 = undefined _ {Df: Set of all Real number
3=1 .1 ="NOT a Function" ' R={yly<=-1}
Ans3 = 4 =undefined | Ansd _[ .2 ="a Function" } , Ans3 = D={x|x>=0}
S5=5 CR={x]|x>=0}
L.6 = undefined {Df: {x|x=/=-1 }}
L TLlR=tyiy==0;

Ans6:(Rf:{y|-]2 <=y<24})
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KK KXKX KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.10487

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

P 2_[.1:{(-4,3),(-3,10A(1/2)),(0,13A(1/2)),(1,14A(1/2)),(3,4),(4,17A(1/2))}}
8= 2={(-4,27),(-3,13),(0,-5),(1,-3),(3,13),(4,27))

i D, = Set of all Real number |
o ] ‘1{ R={y|y>=-2} }
.2 = undefined o= [I;f: {x|x ><: _01}}}
Ans3 = 4 ='in_dej5?ned > Ansd= ['1 ._2 I:\I '(')aTF?lrljcutIil(()::ll'?n } , Ans3 = Dj,z ?; ’|J; >=0}
5=26 '3{Rf:{x|x>=0}}
L.6 = undefined | D,={x|x=/=-1}
[ {Rf={y|y=/=0}}

Ans6:(Rf:{y|-]] <=y<38)})
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KX KKK KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.10644
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

p 2_[.1:{(-3, 2%301/2) ), (-2, 1351/2) ), (0, 15M1/2) ), (1,4), (2, 17%1/2) ), (3, 3*2A(1/2))}}
8= 2={(-3,22),(-2,7),(0,-5),(1,-2),(2,7),(3,22)}

i ; [sz Set of all Real number}_
T 25 L R={yly>=1}
.2 = undefined 2:|:Df: {x|x=<=0}
3=5 .1 ="NOT a Function" ' R={x|x>=0}
Ans3=l 43 b A"S4_[ .2 = "a Function" } , Ans3 = D,={x|x>=-2}
5=13 L R={yly<=0]
6=0
: - [sz {x|x=/= 3}}
| TlR=ty iy =0

Ans6 =(R,={y|-7<=y<74})
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Function0l Answers for No.11101

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

p 2_[ d={(4,52),(-3,31),(-2,16),(0,4),(2,16),(3,31)} }
T 2204, 7N1/2) ), (-3, 2%251/2) ), (-2, 3), (0, 1IN1/2) ), (2, 13%1/2) ), (3, 14(1/2) ) }

i ; [Df: Set of all Real number}_

[ 1=-5] R={yly<=-1}
P :{sz{x|x>=3}
3=-1 .1 ="a Function" ' R={yly>=0}
Ans3 = Ans4 = ) AnsS =
s3 A4=-5 54 [2 ="NOT a Functlon"}’ , Ans 5 {Df: {x|x=/=-3 }}
=-5 T LR={yly=/=0}

L.6=0] D={x[x>=0}
4=
R={yly<=0}
Ans6 =(R,={y|-8<=y<41})
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXXXXXX XXX XXKXXX XXX KKK KX KKK XXX KX KX XKKXKKXK
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Function0l Answers for No.11613

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

p 2_[ d={(-5,127),(-4,82),(-1,7),(0,2),(4,82),(5,127)] }
TS 22y (-5, 2%0M1/2) ), (4, 3), (-1, 2%3%1/2) ), (0, 1351/2) ), (4, 171/2) ), (5, 3%27(1/2) ) }

Ansl =

D={x|x>=0}
oo T ]{Rf={y|y<=0}}
2=5 o .2=ijx,|xi;ﬂ
Ans3 = 4= ‘Lfn:iej?ned oo Ansd= [2 ':1"1_\102}1:; Ilii;[;l?:?ion"}’ , Ans = D, = Sfet ofJ;ZIJ;?eal number
S5=-7 :{ R={yly>=3} }
L.6 = undefined | D,={x|x=/=-2]
i :{Rf={y|y=/=0}}

Ans6 =(R,={y|-72<y<=9})

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKKXKKKX KKK KKK KKK KKKK KX KKK KKK KKK KKK KKK KX KKKKKX
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Function0l Answers for No.11720

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[1:{(-5, 671/2) ), (-4, 7N1/2) ), (-1, 10%1/2) ), (0, 1I1/2) ), (4, 15%1/2) ), (5, 4)}}
8e= 2={(-5,128),(-4,83),(-1,8),(0,3),(4,83),(5,128)

Ansl =

, {Df:{x|x>=0}}
- - - R.= <=
2=1 S| Prixlx==-2/
3=1 .1 ="a Function" L R={yly>=0}

Ans3 = 4=17 7 AnS4:[2:”a Function”}’ , Ansd = 5 D, = Set of all Real number
0 =4 Tl R=iyly>=-3)
L.6=h] |:Df:{x|x=/=-2}}
O LR={yy=20

Ans6:(Rf:{y|-36<y<= 13})
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKX KX KX KX KXXXKX KX KX XX KX KX KKK KX KX KX KX KX KK KKK KK KKXK
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Function0l Answers for No.12122

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"

.4 ="NOT a Function"
) 2_[ A={(-5,95),(-4,59),(-2,11),(0,-5),(4,59),(5,95)} }
T 2= (-5, 10N1/2) ), (-4, 1IN1/2) ), (-2, 13N1/2) ), (0, 1571/2) ), (4, 1951/2) ), (5, 2%57(1/2) ) }
[ ; {Df:{x|x<=0}}
_.1: 13_ Rf: {y|y<: 0}
2=13 ZZ{D,F{XIX:/:%}
3=5 .1 ="NOT a Function" R={yly=/=0}
Ans3 = 4=21 Ans4—[ .2 ="a Function" }’ > Ansd = 5 {Df:{x|x>=-l}}
5=5 TOLR={yly>=0)
L.6=h_ y {Df: Set of all Real number}
L R={yly>=2)
Ans6:(Rf:{y|-]] <=y<70})
X [Page = 0012]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢
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Function0l Answers for No.12133
.1 ="a Function"

.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ A={(-5,55),(-2,13),(0,5),(2,13),(4,37),(5,55)} }
T 22 (-5, 2%271/2) ), (-2, 1IN1/2)), (0, 1351/2) ), (2, I15N1/2) ), (4, 17%1/2) ), (5, 3%27(1/2) ) }

i , {Df:{x|x<=0}}

o] ’ R={x|x>=0}
9—5 . D, = Set of all Real number
= I ="a Function" o R={yly>=3}
Ans3=\ y_ b o A”S4:[2 = "NOT aFunction"}’ , Ans3 = D,={x|x>=2]
S=-1 3= sz{y|y<=0}
6=0
- - {Df:{x|x=/=3}}
L TR=(y Iy ==0)

Ans6:(Rf:{y|-]3 <=y<I2})

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKXKXXKKKKKXKKKKX XX KKK KKK KKK KX KKKK XX KKK KKK KKK KK KKKK KX KKKKKX
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Function0l Answers for No.12317
.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

AnsZ—[ A={(-3,33),(-1,1),(0,-3),(1,1),(3,33),(5,97)} }
CL2={(-3,3),(-1,1IN1/2)),(0,2%3~1/2) ), (1,13)1/2)),(3,1571/2)),(5,17~1/2))}

Ansl =|°

, {Df:{x|x>=0}}
C s R={x|x>=0}
2 = undefined :[Df: Set of all Real number
3=2 .1 ="a Function" R={yly>=-1}
Ans3 = A4=-2 oo Anst= [2 ="NOT a Function"}’ , Ans3 = D={x|x=/=-1}
S5=-5 B R={yl|ly=/=0}
6=—h
L. _ , |:Df:{x|X>:_3}}
. R={yly<=0}

Ans6 =(R,={y|-11 <=y <3})

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKX KKK KKK KX KKKK KK KKK KKK KKK KX KKKKKKXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKXXKXKXXMS /2-6600401-00015XX
Function0l Answers for No.12380

.1 ="NOT a Function"
Ans] — 2="a Funct%on
.3 ="a Function"

.4 ="NOT a Function"

P 2_[.1 =L (-5,2%2N1/2) ) (-4, 3), (-2, 1IN1/2) ), (0, 13%1/2) ), (2, 15%1/2) ), (4, 17A(1/2))}}
8= 2={(-5,121),(-4,76),(-2,16),(0,-4),(2,16),(4,76)}

I ]:{Df:{x|x<=0}}

R={yly<=0}

q=-5
-3 2_[Df:{x|x=/=-3}
3=-3 .1 ="a Function" o R={yly=/=0}
Ans3 = 4 =undefined | ’ Ansd = [2 ="a Function"} , Ansd = 3 {sz Set of all Real number}
5=-10 CTL 0 R={yly>=-2)
L.6 = undefined | , [Df: [x|x>= _3}}
L R={yly>=0}

Ans6:(Rf:{y|-52 <y<=12})
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KK KXKX KX KX KX KX KX KK KKK KK KKK
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Function0l Answers for No.12554

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

AnsZ—[ d={(4,69),(-2,21),(0,5),(1,9),(2,21),(4,69)} }
TL2=4(-4, 1IN12) ), (-2, 1351/2) ), (0, 155172) ), (1,4), (2, 17%1/2) ), (4, 191/2)) }

1_{13],: {x|x=/=3}}
e T R={yly=/=0}
2 :‘undeﬁned 5 {Df: Set of all Real number
3=-6 .1 ="a Function" o R={yly>=2}
Ans3 = A4=-1 [ Ansd = [2 ="a Function"}’ , Ans> = {Df: {x|x>= 3}}
=8 TR ={yIy>=0)
L .6=13+2h | |:Df:{x|x<:0}}
R={yly<=0}

Ans6:(Rf:{y|-]4<y<= 11})
X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KKK KK KKK
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Function0l Answers for No.12836

.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"
s | =2 HINU2)) (<1, 2%35102)) (0, 13N12)) (1, 14°(1/2)), (2, 15N1/2)), (3., 4) ]
we=l 2={(-2,19),(-1,7),(0,3),(1,7),(2,19),(3,39)} ]
]:[Df:{x|x=/=-3}}
N R={yly=/=0}
2 (ot
3=-3 .1 ="a Function" ' R={x[x>=0}
Ans3 = 4 =undefined| AnS4_[2="a Function"} , Ansd = {sz Set of all Real number}
6_-5=d-; ] L R={yly<=-2}
.6 = undefined | :[Df:{xlx>=3}}
R={y|ly<=0J

Ans6:(Rf:{y|-]3 <=y<68})
X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KXKXKX KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.12959
.1 ="NOT a Function"

Ans] — .2 ="a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"
P 2_[1 =L (-3, 11N1/2)), (-2, 2%351/2) ), (0, 1471/2) ), (2, 4), (3, 17%1/2) ), (4, 3*2A(1/2))}}
e 2={(-3,32),(-2,17),(0,5),(2,17),(3,32),(4,53))
‘]={Df:{x|x<=0}}
N R={yly<=0/}
.2 = undefined _{Df‘: {x|x=/=-2]
3=-7 .1 ="NOT a Function" . R,= {yly=/=0}
Ans3 = 4=-7 C 7 Ans4—[ .2 ="a Function" }’ , Ans3 = 3 {Df: {x|x>=-3}}
S5=-9 T sz{y|y>=0}
6=-2h {Df: Set of all Real number}
R={yly>=-1}
Ans6 =(R,={y|-42<y<=7})
X [Page = 0018] :
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Function0l Answers for No.12967

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

p 2_[.1:{(-4, 3),(-3,10M1/2)), (-2, 111/2) ), (0, 13%1/2) ), (3. 4), (4, 17A(1/2))}}
8= 2={(-4,74),(-3,39),(-2,14),(0,-6),(3,39),(4,74)}

i J{sz{x|x=/=3}}

Ansl =|°

. R.= =/=0
2=1 5o D={x[x>=0/
3=-=2 [ I ="a Function" } TR ={y]y<=0}
Ans3 = ' Ans4 = ) . Ans5 =
ns3 4 =undefined |~ 54 .2="NOT a Function"]" 53 3 |:Df: Set of all Real number}
J=-6 T R}::{yl)}>u='1}
L.6 = undefined.

4:{Df:{x|x>=1}}
R={yly>=0}
Ans6:(Rf:{y|-]] <=y<70})
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Function0l Answers for No.12975

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ans2—[ A={(-4,61),(-3,33),(-1,1),(0,-3),(3,33),(4,61)} }
CL2={(4,2%2:1/2) ), (-3,3),(-1,11(1/2) ), (0,2*3N1/2) ), (3,15N1/2) ), (4,4)}

; [sz Set of all Real number}_

Ansl =

1<17 R={yly>=-2}
.2 = undefined 2 :[Df: {x|x=/=1 }}

— _n : " : R.= :/:0
Ans3 — 3 _4 , , Ans4:['1 NOT a Function l  AnsS = v {yly /

.2 ="a Function" {sz {x|x<= 0}}
R={yly<=0}

- 4_{Df:{x|x>=3}}
[ R={yy>=0}

SNEUNINN
Il
o o o

Ans6:(Rf:{y|-]0<=y< 71})
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Function0l Answers for No.12979
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

AnSZ—[ d={(-5,71),(-2,8),(-1,-1),(0,-4),(1,-1),(5,71)} }
CL2={(-5,10M1/2) ), (-2, 13N1/2) ), (-1, 141/2) ), (0,15N1/2) ), (1,4),(5,2*51/2) ) }
| {Df={x|x>=0}}
1 =

R={yly<=0}

A =-2
.2 = undefined P Dy={x[x>=1]
3=2 [ I ="a Function" } o R={yly>=0}
Ans3 = ’ Ans4 = ) . Ans5 =
ns3 4 =undefined | ° 54 .2="NOT a Function" [ ~’ 53 D, = Set of all Real number
5=l T Re=tyly<=2
S

L.6 = undefined | {Df: {x|x=/=-2 }}
TLR={yly=/=0}

Ans6:(Rf:{y|-]2 <=y<37})
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Function0l Answers for No.13010

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

A={(-5,121),(-3,41),(0,-4),(1,1),(3,41),(5,121)} }
/

Ans2 = [2 = (-5, 10N1/2) ), (-3, 2%371/2) ), (0, 15N1/2) ), (1,4), (3, 3%271/2) ), (5, 2*57(1/2) )

; {Df:{x|x>=-]}}
_ _ " R= >=()
10 ={y |y ) /
.2 = undefined zz{Df: {x|x>=0/
3=3 .1 ="NOT a Function" ' R={yly<=0}
Ans3 = 4=3 T Ans4—[ .2 ="a Function" l , Ans>= D;={x|x=/=-3}
S5=7 a R={yly=/=0}
6=2h
L . {Df: Set of all Real number}
L R={yly>=-1}

Ans6:(Rf:{y|-]3 <=y<68})
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Function0l Answers for No.13020
.1 ="NOT a Function"

.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"
o _[.1 ={(-5,10%1/2) ), (-4, 1IN1/2)), (0, 15~1/2) ), (2, 17N1/2) ), (4, 191/2) ), (5, 2*5A(1/2))}}
8= 2={(-5,53),(-4,35),(0,3),(2,11),(4,35),(5,53) )
i ]Z[Df:{x|x>=2}}
_ 1] R={yly<=0/}
.2:[Df:{x|x=/=3}}

Ansl =

2=1
3=-5 .1 ="a Function" R={yly=/=0}
Ans3 = A4=-50 7 Ansd = [2 ="NOT a Function”}’ , Ansd =

{sz Set of all Real number}
' R={yly<=1}
Re={x|x>=0]

Ans6:(Rf:{y|-7] <y<=10})
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Function0l Answers for No.13028

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

) 2_[ d={(-5,55),(-4,37),(-2,13),(0,5),(2,13),(5,55)} }
= 2={(-5,3),(-4,10%1/2)), (-2,2%¥3N1/2)), (0, 14~1/2)),(2,4),(5,191/2))}
i 1_[Df:{x|x==-3}}
TP L R={yly=/=0}
.2 = undefined 2:{Df: {x|x>=-1}
3=-5 .1 ="NOT a Function" . R={yly<=0}
Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" } , Ans3 = 5 D={x|x>=0}
5=-13 = R=fx1x>=0;
.6 = undefined
- - y {Df: Set of all Real number}
L R={yly<=-1}

Ans6:(Rf:{y|-]2 <y<=13})
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Function0l Answers for No.13068
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

p 2_[.1:{(-3, LINI2) ), (-1, 13751/2) ), (0, 14~1/2) ), (1, 15%1/2)), (2, 4), (3, 17A(1/2))}}
8= 2={(-3,21),(-1,5),(0,3),(1,5),(2,11),(3,21)}

D, = Set of all Real number |

[ 1=-10] ]{ Rp=iyly<=-1} }
2=3 .2:{%:{’6"6::%}

_. . - x>

R e SRS tobwerol] SRS I AV
5=-5 :[Rf={y|y<=0}}
L.6=-2h] D= (x| x~/~2
{Rf={y|y=/=0}}

Ans6 =(R,={y|-74<y<=7})

X [Page = 0025] XXXXXKXXXXXXXXXXXXXXXXXXKXKXXXXKKXKXXXKXKXKXXXKKKXKKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKKX XX KKK KKK KKK KX KKKK XX KKKKKX
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Function0l Answers for No.13086

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

P 2_[.1 =1 (-4, 7N1/2)), (-2, 3), (-1, 1051/2) ), (0, 1IN1/2) ), (1, 2%351/2) ), (4, 15A(1/2))}}
8e= 2={(-4,101),(-2,29),(-1,11),(0,5),(1,11),(4,101)}

Dy={x|x>=0;

o ]{Rf={y|y<=oJ

.2 = undefined S sz {x|x>= .02}}

_ L, . _ >:

Ans3 = .jz_ 131 o A”“‘:[ﬁé;vi EEEEEZH A= o S o?c}zl‘l)}}’{eal njmber
S '3:{ R={yly>=-3} }

| 6=-12-h | N

:[R,-={y|y=/=0}}

Ans6:(Rf:{y|-]2 <=y<13})
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Function0Ol Answers for No.13111
.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1 =L (-5,3), (-4, 1071/2)), (-2, 2%37(1/2) ), (0, 14°1/2) ), (4, 3¥27(1/2) ), (3, 19A(1/2))}}
8e= 2={(-5,131),(-4,86),(-2,26),(0,6),(4,86),(5,131)}

Ansl =|°

zz[Df={x|x>=1}}
S R={yly<=0}
2=2 , :{Df:{x|x<=0}}
B o o = >=
Ans3 = : :_ .39 > Ansd :[‘1 ._2 =N f‘)alTFirlj;?g:ll'?n }’ , Ans3 = [Df—ifet oij;;l);eal bember}
5=-13 - = <=-
|.6=—2h. 1;?:: Z || i =/= -]1}}
{Rf{yly:/: 0}}

Ans6 =(R,={y|-7<=y<18})

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXKKKXKKXKKKKKXKKKKX XX KKK KKK KKK KKK KKKK KX KKK KKK KKK KKK KKK KX KKKKKX
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Function0l Answers for No.13116

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

d={(-5,3),(-2,2%371/2)), (0, 1471/2) ), (2, 4), (4, 3*2:1/2) ), (5, 19A(1/2))}}
2={(-5,70),(-2,7),(0,-5),(2,7),(4,43),(5,70)]}

Ansl =

Ans2 = [

; {Df:{x|x>=0}}

_ 1-2 - _Rf:{y|y<:0}
2=2 5o Dy={x|x>=-1}
3=6 1="NOT a Function" L R={yly>=0}

Ans3 = 4=-13 ! 5 Ai’lS4:|: 2 = "3 Function" :l: , Ans5 = ; [Df:SetofallRealnumber}
P Tl Re=iyly<=-1)
=0 = e [Df:{x|x=/=2}}
U R={yly=/=0]

Ans6:(Rf:{y|—57<y<: 7))
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GBIV HNED 610:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0. | YL IF NI N oL J0}2L°) ¢
FunctionOl Answers for No.13122
.1 ="a Function"
.2="NOT a Function"
Ansl = " .
.3 ="a Function

.4 ="NOT a Function"

4 2_[ d={(-4.61),(-3.33),(-1.1),(0.-3),(1.1).(3.33)] }
nse= 2={(-4,101/72)), (-3,111/2)), (-1,13~1/2)), (0, 14~1/2)), (1, 15°1/2)), (3, 17~1/2))}
_ {Df:{x|x<=0}} '
] =
(1 =-15] R={yl|ly<=0}
. 2{D¢{x|x>=1}}
Ans3 = I Ans4:[.1="aFunction" R={y|ly>=0}

- L R=(yly=3)
L .6=0 _ _{Df:{ﬂx:/:—l}}
O LR={yly==0)

2=17

3=2 } Ans5 =

4=1 .2="aFunction"] ~’ [sz Set of all Real number}
S5=1

6=0

Ans6:(Rf:{y|-]3 <=y<36})
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Function0l Answers for No.13123

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

AnsZ—[ A={(-5,73),(4,46),(-1,1),(0,-2),(1,1),(5,73)) }
TL2=4(-5,2%21/2) ), (4, 3), (-1, 2%3N1/2) ), (0, 13N1/2) ), (1, 14Y1/2) ), (5, 3%27(1/2) ) }
i {Df:{x|x==-l}} ]
1 =

R={yly=/=0}

5--8 T R=fxlx>=0,
L.6=-2h] {D = Set of all Real number}
R={yly>=-3}

A=-4
2=23 22{D,.:{x|x>=2}
3=-3 .1 ="a Function" . R={yly<=0}
Ans3 = Ans4 = i Anss =
ns3 4=-4 | , Ansd [2 ="a Functlon”}’ , Ans3 {Df: {x|x>= 0}}

Ans6:(Rf:{y|-]3 <=y<23})
X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX KX KX KX KKK KX KX KX KX KX KK KKK KK KKK
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FunctionOl Answers for No.13126
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

AnsZz['l ={(-5,74172)), (-2,10N1/2)), (-1, 11"(172) ), (0, 2*3N1/2) ), (2, 14N1/2) ), (5, ]7%]/2))}}
2={(-5,103),(-2,19),(-1,7),(0,3),(2,19),(5,103)}
i [sz Set of all Real number}_
[ 1=-15 ] L R={yly>=1)
.2 = undefined 5 =Bf: ;X ’| x>= ;’j}
3= d=" ion" ={yly<=
Ans3 = .:=-12 ' ’Amz[ .2§%TF1§;?§3?H } , Ans = D;: [x|x=/-2]
5=-2 :{Rz{y|y=/=0}}
6=0 !
. {sz{x|x>=0}}
L R={x[x>=0}

Ans6:(Rf:{y|-]2 <=y<37})
X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKX XX KX KX KXXXKX KX KX XX KX KX KXKK KX KX KX KX KX KK KXKKKKKKK
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Function0Ol Answers for No.13421
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

P 2_[.1 = (-3,2%21/2) ), (-1, 10N1/2) ), (0, 1IN1/2) ), (1, 2%3%1/2) ), (3, 14(12) ), (4, 15A(1/2))}}
e 2={(-3,23),(-1,-1),(0,4),(1,-1),(3,23),(4,44)}
‘]={Df:{x|x>=0}}
C o R={x|x>=0}
.2 = undefined 22?%:{X|X>:3}
3=-4 .1 ="a Function" . R={yly<=0}
Ans3 = 4 =undefined | An54_[2="NOTaFunction"}’ , Ans3 = [sz Set of all Real number}
6_.5261-} y B Rf:{y|y<=2}
L.6 = undefined. :{Df:{x|x=/=2}}
i R={yly=/=0]

Ans6:(Rf:{y|-52 <y<=12})
X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KX KKK KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.13646
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

P 2_[.1 =1 (-5,3), (-3, 1IN1/2)), (-1, 1371/2) ), (0, 14%1/2) ), (3, 17%1/2) ) , (5, 19A(1/2))}}
8e= 2={(-5,131),(-3,51),(-1,11),(0,6),(3,51),(5,131)}

} [sz {x|x=/=-3 }}
_ - | R.= —/=
Je.13 ={y |y /_0}
.2 = undefined 2:{Df: {x|x>=1]
3=-7 .1 ="a Function" ' R={yly<=0}
Ans3 = 4 =undefined | ’ Ansd = [2 ="a Function"} , Ansd = 5 D={x|x>=0/
S5=-10 ' _Rf:{x|x>=0}
.6 = undefined
- - {Df: Set of all Real number}
L R={yly>=-1}

Ans6 =(R,={y|-74<y<=7})
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Function0l Answers for No.13862

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

ines _[.1 =L (-5, 7N1/2) ), (-2, 10N(1/2) ), (0, 2%351/2) ), (2, 1451/2) ), (3, 15%1/2) ), (5, 17A(1/2))}}
o= 2={(-5,103),(-2,19),(0,3),(2,19),(3,39),(5,103))

, {Df:{x|x>=-3}}
T LR={yly<=0}
2=8 2:{Df={XIx=/=3}
3=4 .1 ="a Function" R={yly=/=0}
Ans3 = 4=-4 [ An54_[2:"NOTaFunction"}’ , Ans3 = D={x|x<=0}
5=8 CR={x]|x>=0}
6=11+h
- - {Df: Set of all Real number}
L R={yly<=-1}

Ans6:(Rf:{y|-]] <=y<70})
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FunctionOl Answers for No.13943
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function

.4 ="NOT a Function"

e _[.1 = (-5, TN1/2) ), (-4, 2%27(1/2) ), (-1, TIN1/2) ), (0, 2%351/2) ), (1, 13%1/2) ), (5, 17A(1/2))}}
nse= 2={(-5,128),(-4,83),(-1,8),(0,3),(1,8),(5,128)}

; [sz {x|x=/= -2}}
2=3 5 D={x[x>=-3/}
3=1 .1 ="a Function" L R={yly<=0}

Ans3 = A4=-7 AnS4:[2=”a Function”}’ , Ans> = D, = Set of all Real number
S5=-7 L R={yly>=3}
6=0

- - D={x|x>=0}
TR fx x>0y

Ans6:(Rf:{y|-26<y<= 10})
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Function0l Answers for No.13968

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1:{(-4, 3),(-3,10%1/2)), (-1, 2%351/2) ), (0, 13~1/2) ), (1, 14%1/2) ), (3, 4)}}
o= 2={(-4,44),(-3,23),(-1,-1),(0,-4),(1,-1),(3,23)}

i ; {Df: Set of all Real number}_

Ansl =|°

=5 ] R={yly<=-1}
s 2:{Df:{x|x=/=-]}
=1 .1 ="a Function" ' R={yly=/=0}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ansy = D={x|x>=-3}
2=l L R={yly<=0}

L.6 = undefined

D,={x|x<=0]
T R=pxlx=0;
Anséz(Rf:{y|-]2<=y<]3})
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Function0l Answers for No.14006
.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
AI’ZS2=|: A={(-5,73),(-4,46),(-2,10),(0,-2),(4,46),(5,73)} }
2={(-5,10N172)), (-4, 11 1/2)), (-2, 13~1/2)), (0, 15™1/2) ), (4, 19%1/2) ), (5, 2*51/2) ) }

, {Df:{x|x>=l}}
_1:2_ _Rf:{yly<:0}
2=-1 {Df:{“x:/:“
3=3 .1 ="a Function" R,= {y|ly=/=0}
Ans3 = 4=13] ~ AnS4_[2=”aFunction”}’ , Ansd = D={x|x>=0/
S5=13 _Rf:{x|x>=0}
6=0
- - J {sz Set of all Real number}
L R=E{yviy<=3} ]

Ans6 =(R,={y|-9<=y<40})
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Function0l Answers for No.14022

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

Ansl =

AnsZ—[ d={(-5,145),(-3,49),(0,-5),(2,19),(3,49),(5,145)} }
TL2=4(-5,3),(-3,11(1/2)), (0, 14~1/2) ), (2,4), (3, 17N1/2) ), (5, 1971/2)) }
]{sz{x|x<=0}}

T =5 ] R={yly<=0}
2=-1 ZZ{D,F{XIP:I}
3=-1 .1 ="NOT a Function" ' R={yly>=0}

Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" } , Ans3 = [sz Set of all Real number}
6_5;? y h Rf:{y|y>=1}
L.6 = undefined | :{sz{x|x=/=3}}
L R={yly=/=0}

Anséz(Rf:{y|-]0<=y<26})
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